

NOTE ON λ -LINEAR FUNCTION ARISING FROM THE p -ADIC FERMIONIC INTEGRAL ON \mathbb{Z}_p

HYE KYUNG KIM¹, AND DAE SIK LEE^{2,*}

ABSTRACT. The p -adic Fermionic integral over \mathbb{Z}_p is one of the important techniques among the many ways to investigate and construct generating functions for special polynomials and numbers.

In this paper, we consider two λ -linear functionals on $\mathbb{C}_p[x]$ arising from the p -adic fermionic integral on \mathbb{Z}_p and $\mathbb{Z}_p^r = \mathbb{Z}_p \times \cdots \times \mathbb{Z}_p$, respectively, by using umbral calculus and λ -umbral calculus. In other word, we study to determine the linear functionals given by $P(x) \rightarrow \int_{\mathbb{Z}_p} P(x) d\mu_{-1}(x)$ and $P(x) \rightarrow \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} P(x_1 + \cdots + x_r) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r)$, respectively.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 11F20; 11B68; 11B83.

KEYWORDS AND PHRASES. Degenerate Euler polynomials; Degenerate Euler polynomials of order r ; p -adic invariant integral; arising from the p -adic fermionic integral; λ -umbral calculus.

1. INTRODUCTION

The p -adic integral has a very important role in physics, mathematics and engineering. Recently, many mathematicians have studied various degenerate versions of special polynomials and numbers and have yielded many interesting results. Kim constructed the p -adic q -Volkenborn integration [13]. When $q = -1$, it is called the p -adic Fermionic integral on \mathbb{Z}_p . The p -adic Fermionic integral over \mathbb{Z}_p is one of the important techniques among the many ways to investigate and construct generating functions for special polynomials and numbers. In addition, the degenerate versions of special numbers and polynomials have been much studied so far and have important applications in a variety of natural and social sciences.

In this paper, first, we consider linear functional on $\mathbb{C}_p[x]$ arising from the p -adic fermionic integral on \mathbb{Z}_p . We study to determine the linear functionals given by $P(x) \rightarrow \int_{\mathbb{Z}_p} P(x) d\mu_{-1}(x)$ which is given by the generating function of degenerate Euler polynomials. Second, we consider linear functional on $\mathbb{C}_p[x]$ arising from the multivariate p -adic fermionic integral on $\mathbb{Z}_p^r = \mathbb{Z}_p \cdots \mathbb{Z}_p$. We study to determine the linear functionals given by $P(x) \rightarrow \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} P(x_1 + \cdots + x_r) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r)$ which is given by the generating function of degenerate Euler polynomials of order r . In other word, we show that λ -differentiations of any polynomial by such generating functions can be expressed by p -adic fermionic integrals on \mathbb{Z}_p or \mathbb{Z}_p^r .

* is corresponding author.

For any $\lambda \in \mathbb{R}$,

$$(1) \quad e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [5-9]}),$$

where $(x)_{0,\lambda} = 1$ and $(x)_{n,\lambda} = x(x - \lambda) \cdots (x - (n - 1)\lambda)$, $(n \geq 1)$.

For $r \in \mathbb{N}$ and $\lambda, t \in \mathbb{Z}_p$ with $|\lambda t|_p < p^{-\frac{1}{p-1}}$, the degenerate Euler polynomials $E_{n,\lambda}^{(r)}(x)$ of order r are defined by the generating function to be

$$(2) \quad \sum_{n=0}^{\infty} E_{n,\lambda}^{(r)}(x) \frac{t^n}{n!} = \left(\frac{2}{e_\lambda(t) + 1} \right)^r e_\lambda^x(t), \quad (\text{see [5]}).$$

When $x = 0$, $E_{n,\lambda}^{(r)} = E_{n,\lambda}^{(r)}(0)$ are called the degenerate Euler numbers of order r .

When $r = 1$, the ordinary degenerate Euler polynomials are given by

$$(3) \quad \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [6]}).$$

Let p be chosen as an odd prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of an algebraic closure of \mathbb{Q}_p . Let $|\cdot|_p$ be the p -adic norm normalized as $|p|_p = \frac{1}{p}$.

For a \mathbb{C}_p -valued continuous function f on \mathbb{Z}_p , the p -adic Fermionic integral on \mathbb{Z}_p is defined by Kim [14] as follows:

$$(4) \quad \begin{aligned} I_{-1}(f) &= \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) \mu_{-1}(x + p^N \mathbb{Z}_p) \\ &= \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) (-1)^x, \quad (\text{see [5, 6, 12]}). \end{aligned}$$

Let $f_n(x) = f(x + n)$ for $n \in \mathbb{N}$. From (4), we observe that

$$(5) \quad I_{-1}(f_n) + (-1)^{n-1} I_{-1}(f) = 2 \sum_{l=0}^{n-1} (-1)^{n-1-l} f(l), \quad (\text{see [5, 6, 12]}).$$

In (5), when $n = 1$, we have

$$(6) \quad I_{-1}(f_1) + I_{-1}(f) = 2f(0).$$

Let $f(x) = e_\lambda^x(t)$. Then

$$(7) \quad \int_{\mathbb{Z}_p} e_\lambda^x(t) d\mu_{-1}(x) = \frac{2}{e_\lambda(t) + 1} = \sum_{n=0}^{\infty} E_{n,\lambda} \frac{t^n}{n!},$$

and

$$(8) \quad \int_{\mathbb{Z}_p} (x)_{n,\lambda} d\mu_{-1}(x) = E_{n,\lambda}.$$

Let $f(x) = e_\lambda^{x+y}(t)$. Then

$$(9) \quad \int_{\mathbb{Z}_p} e_\lambda^{x+y}(t) d\mu_{-1}(y) = \left(\frac{2}{e_\lambda(t) + 1} \right) e_\lambda^x(t) = \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^n}{n!},$$

and

$$\int_{\mathbb{Z}_p} (x+y)_{n,\lambda} d\mu_{-1}(x) = E_{n,\lambda}(x) \quad (\text{see [6]}).$$

2. REVIEW OF λ -UMBRAL CALCULUS

In this section, we introduced λ -Sheffer sequences.

Let $\mathcal{F} = \left\{ f(t) = \sum_{k=0}^{\infty} a_k \frac{t^k}{k!} \mid a_k \in \mathbb{C}_p \right\}$ be the algebra of all formal power series in t with coefficients in \mathbb{C}_p . Let $\mathbb{P} = \mathbb{C}_p[x]$ be the ring of all polynomials in x with coefficients in \mathbb{C}_p , and let \mathbb{P}^* denote the vector space of all linear functionals on \mathbb{P} (see [9, 18, 19]). Let $\langle L|P(x) \rangle$ denote the action of the linear functional L on the polynomial $P(x)$.

For $f(t) = \sum_{k=0}^{\infty} a_k \frac{t^k}{k!} \in \mathcal{F}$ and a fixed nonzero real number λ , each λ gives rise to the linear functional $\langle f(t) | \cdot \rangle_\lambda$ on \mathbb{P} , called λ -linear functional given by $f(t)$, which is defined by

$$(10) \quad \langle f(t) | (x)_{n,\lambda} \rangle_\lambda = a_n, \quad \text{for all } n \geq 0 \quad (\text{see [9]}).$$

In particular $\langle t^k | (x)_{n,\lambda} \rangle_\lambda = n! \delta_{n,k}$, for all $n, k \geq 0$, where $\delta_{n,k}$ is the Kronecker's symbol.

For $\lambda = 0$, we observe that the linear functional $\langle f(t) | \cdot \rangle_0$ agrees with the one in $\langle f(t) | x^n \rangle = a_n$, ($k \geq 0$).

For each $\lambda \in \mathbb{R}$ and each nonnegative integer k , the λ -differential operator t^k on \mathbb{P} is defined by

$$(11) \quad (t^k)_\lambda(x)_{n,\lambda} = \begin{cases} (n)_k(x)_{n-k,\lambda}, & \text{if } k \leq n, \\ 0 & \text{if } k > n, \end{cases} \quad (\text{see [9]}),$$

and for any power series $f(t) = \sum_{k=0}^{\infty} a_k \frac{t^k}{k!} \in \mathcal{F}$,

$$(f(t))_\lambda(x)_{n,\lambda} = \sum_{k=0}^n \binom{n}{k} a_k (x)_{n-k,\lambda}, \quad (n \geq 0).$$

The order $o(f(t))$ of a power series $f(t) (\neq 0)$ is the smallest integer k for which the coefficient of t^k does not vanish. The series $f(t)$ is called invertible if $o(f(t)) = 0$ and such series has a multiplicative inverse $1/f(t)$ of $f(t)$. $f(t)$ is called a delta series if $o(f(t)) = 1$ and it has a compositional inverse $\bar{f}(t)$ of $f(t)$ with $\bar{f}(f(t)) = f(\bar{f}(t)) = t$.

Let $f(t)$ and $g(t)$ be a delta series and an invertible series, respectively. Then there exists a unique sequences $s_{n,\lambda}(x)$ such that the orthogonality conditions holds

$$(12) \quad \langle g(t)(f(t))^k | s_{n,\lambda}(x) \rangle_\lambda = n! \delta_{n,k}, \quad (n, k \geq 0) \quad (\text{see [9]}).$$

The sequence $s_{n,\lambda}(x)$ is called the λ -Sheffer sequence for $(g(t), f(t))$, which are denoted by $s_{n,\lambda}(x) \sim (g(t), f(t))_\lambda$.

The sequence $s_{n,\lambda}(x) \sim (g(t), f(t))_\lambda$ if and only if

$$(13) \quad \frac{1}{g(\bar{f}(t))} e^x(\bar{f}(t)) = \sum_{k=0}^{\infty} \frac{s_{k,\lambda}(x)}{k!} t^k \quad (n, k \geq 0) \quad (\text{see [9]}).$$

Assume that for each $\lambda \in \mathbb{R}^*$ of the set of nonzero real numbers, $s_{n,\lambda}(x)$ is λ -Sheffer for $(g_\lambda(t), f_\lambda(t))$. Assume also that $\lim_{\lambda \rightarrow 0} f_\lambda(t) = f(t)$ and $\lim_{\lambda \rightarrow 0} g_\lambda(t) = g(t)$, for some delta series $f(t)$ and an invertible series $g(t)$. Then $\lim_{\lambda \rightarrow 0} \bar{f}_\lambda(t) = \bar{f}(t)$, where is the compositional inverse of $f(t)$ with $\bar{f}(f(t)) = f(\bar{f}(t)) = t$. Let $\lim_{\lambda \rightarrow 0} s_{k,\lambda}(x) = s_k(x)$.

The sequence $s_n(x)$ is called the Sheffer sequence for $(g(t), f(t))$, which are denoted by $s_n(x) \sim (g(t), f(t))$.

The sequence $s_n(x) \sim (g(t), f(t))$ if and only if

$$(14) \quad \frac{1}{g(\bar{f}(t))} e^x(\bar{f}(t)) = \sum_{k=0}^{\infty} \frac{s_k(x)}{k!} t^k \quad (n, k \geq 0) \quad (\text{see [18]}).$$

Let $s_n(x) \sim (g(t), f(t))$ and $r_n(x) \sim (h(t), g(t))$, ($n \geq 0$). Then

(15)

$$s_n(x) = \sum_{k=0}^n z_{n,k} r_k(x), \quad (n \geq 0),$$

$$\text{where } z_{n,k} = \frac{1}{k!} \left\langle \frac{h(\bar{f}(t))}{g(\bar{f}(t))} (l(\bar{f}(t)))^k \mid x^n \right\rangle, \quad (n, k \geq 0), \quad (\text{see [18]}).$$

Let $u_\lambda(t) = \frac{1}{\lambda}(e^{\lambda t} - 1)$. Then the compositional inverse function of $u_\lambda(t)$ is

$$(16) \quad \bar{u}_\lambda(t) = \frac{1}{\lambda} \log(1 + \lambda t).$$

Let $f(t), g(t) \in F$ with $o(f(t)) = 1$ and $o(g(t)) = 0$. From (13) and (14), we observe that

$$(17) \quad \begin{aligned} S_{n,\lambda}(x) &\sim (g(u_\lambda(t)), f(u_\lambda(t))) \\ &\Leftrightarrow \sum_{n=0}^{\infty} S_{n,\lambda}(x) \frac{t^n}{n!} = \frac{1}{g(\bar{f}(t))} e^{x\bar{u}_\lambda(\bar{f}(t))} = \frac{1}{g(\bar{f}(t))} e^x(\bar{f}(t)) \\ &\Leftrightarrow S_{n,\lambda}(x) \sim (g(t), f(t))_\lambda. \end{aligned}$$

From (17), we have

(18)

$$S_{n,\lambda}(x) \sim (g(t), f(t))_\lambda \Leftrightarrow S_{n,\lambda}(x) \sim (g(u_\lambda(t)), f(u_\lambda(t))) \quad (\text{see [14]}).$$

Let $S_{n,\lambda}(x) \sim (g(t), f(t))_\lambda$. Then from (12), we observe that

$$(19) \quad \begin{aligned} \langle g(t)f(t)^k|(f(t))_\lambda S_{n,\lambda}(x)\rangle_\lambda &= \langle g(t)f(t)^{k+1}|S_{n,\lambda}(x)\rangle_\lambda = n!\delta_{n,k+1} \\ &= n(n-1)!\delta_{n-1,k} = \langle g(t)f(t)^k|nS_{n-1,\lambda}(x)\rangle_\lambda. \end{aligned}$$

Thus, from (18) and (19), we have

$$(20) \quad (f(t))_\lambda S_{n,\lambda}(x) = nS_{n-1,\lambda}(x).$$

$$\text{Since } \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!} = e_\lambda^x(t) = e^{x\bar{u}_\lambda(t)},$$

$$(21) \quad (x)_{n,\lambda} \sim (1, u_\lambda(t)).$$

From (11), (20) and (21), we note that $u_\lambda(t)(x)_{n,\lambda} = n(x)_{n-1,\lambda}$ and

$$(22) \quad (t^k)_\lambda(x)_{n,\lambda} = (n)_k(x)_{n-k,\lambda} = (u_\lambda(t))^k(x)_{n,\lambda}.$$

For any $f(t) \in F$ and $P(x) \in \mathbb{P} = \mathbb{C}_p[x]$, by (22), we have

$$(23) \quad (f(t))_\lambda P(x) = f(u_\lambda(t))P(x).$$

Thus, from (20) and (23), we have

$$(24) \quad (f(t))_\lambda S_{n,\lambda}(x) = f(u_\lambda(t))S_{n,\lambda}(x) = nS_{n-1,\lambda}(x) \quad (\text{see [14]}).$$

3. THE λ -LINEAR FUNCTIONAL ASSOCIATED WITH DEGENERATE EULER NUMBERS

In this section, we introduce the λ -linear functional $f(t)$ that satisfies

$$(25) \quad \langle f(t)|P(x)\rangle_\lambda = \int_{\mathbb{Z}_p} p(x)d\mu_{-1}(x),$$

for all polynomials $P(x) \in \mathbb{P} = \mathbb{C}_p[x]$.

Theorem 3.1. *For $P(x) \in \mathbb{P}$, we have*

$$\int_{\mathbb{Z}_p} P(x)d\mu_{-1}(x) = \left\langle \int_{\mathbb{Z}_p} e_\lambda^x(t)d\mu_{-1}(x) \middle| P(x) \right\rangle_\lambda = \left\langle \frac{2}{e_\lambda(t) + 1} \middle| P(x) \right\rangle_\lambda.$$

Proof. From (1) and (25), we observe that

$$(26) \quad \begin{aligned} f(t) &= \sum_{k=0}^{\infty} \frac{\langle f(t)|(x)_{k,\lambda}\rangle_\lambda}{k!} t^k = \sum_{k=0}^{\infty} \int_{\mathbb{Z}_p} (x)_{k,\lambda} d\mu_{-1}(x) \frac{t^k}{k!} \\ &= \int_{\mathbb{Z}_p} \sum_{k=0}^{\infty} (x)_{k,\lambda} \frac{t^k}{k!} d\mu_{-1}(x) = \int_{\mathbb{Z}_p} e_\lambda^x(t) d\mu_{-1}(x) = \frac{2}{e_\lambda(t) + 1}. \end{aligned}$$

Therefore, by (26), we obtain the desired result. □

Theorem 3.2. *For any $P(x) \in \mathbb{P}$, we have*

$$\int_{\mathbb{Z}_p} P(x+y)d\mu_{-1}(y) = \left(\frac{2}{e_\lambda(t) + 1} \right)_\lambda P(x) = \left(\frac{2}{e^t + 1} \right) P(x).$$

Proof. First, for $P(x) = (x)_{n,\lambda}$, from (8) and (10), we observe that

$$(27) \quad E_{n,\lambda} = \left\langle \int_{\mathbb{Z}_p} e_\lambda^y(t) d\mu_{-1}(y) \middle| (x)_{n,\lambda} \right\rangle_\lambda.$$

From (3) and (17), we note that

$$(28) \quad E_{n,\lambda}(x) \sim \left(\frac{e_\lambda(t) + 1}{2}, t \right)_\lambda \quad \text{and} \quad E_{n,\lambda}(x) \sim \left(\frac{e^t + 1}{2}, t \right).$$

From (13) and (28), we get

$$(29) \quad \left(\frac{e_\lambda(t) + 1}{2} \right)_\lambda E_{n,\lambda}(x) \sim (1, t)_\lambda.$$

Moreover, we note that the compositional inverse $\bar{u}_\lambda(t) = \frac{1}{\lambda} \log(1 + \lambda t)$ of $u_\lambda(t) = \frac{1}{\lambda}(e^{\lambda t} - 1)$.

Since $\sum_{n=0}^\infty (x)_{n,\lambda} \frac{t^n}{n!} = e_\lambda^x(t) = e^{x\bar{u}_\lambda(t)}$, from (13) and (14), we get

$$(30) \quad (x)_{n,\lambda} \sim (1, t)_\lambda \quad \text{and} \quad (x)_{n,\lambda} \sim (1, u_\lambda(t)).$$

From (22) and (30),

$$(31) \quad (t)_\lambda E_{n,\lambda}(x) = u_\lambda(t) E_{n,\lambda}(x) = n E_{n-1,\lambda}(x).$$

From (23), (29) and (31), the uniqueness of the Sheffer sequences and noting that $g(u_\lambda(t)) = \frac{e^t + 1}{2}$, we obtain

$$(32) \quad \begin{aligned} \int_{\mathbb{Z}_p} (x + y)_{n,\lambda} d\mu_{-1}(y) &= E_{n,\lambda}(x) = \left(\frac{2}{e_\lambda(t) + 1} \right)_\lambda \left(\frac{e_\lambda(t) + 1}{2} \right)_\lambda E_{n,\lambda}(x) \\ &= \left(\frac{2}{e_\lambda(t) + 1} \right)_\lambda (x)_{n,\lambda} = \left(\frac{2}{e^t + 1} \right) (x)_{n,\lambda}. \end{aligned}$$

Therefore, from (32), we obtain the desired result. □

Examples.

(a) Choosing $P(x) = x^n$ in Theorem 2, we get

$$\int_{\mathbb{Z}_p} (x + y)^n d\mu_{-1}(y) = \left(\frac{2}{e_\lambda(t) + 1} \right)_\lambda x^n = \left(\frac{2}{e^t + 1} \right) x^n.$$

(b) Let $P(x) = \sum_{k=0}^n \binom{n}{k} x^k + x^n$ in Theorem 2. Then, we have

$$\begin{aligned} \int_{\mathbb{Z}_p} P(x + y) d\mu_{-1}(y) &= \sum_{k=0}^n \binom{n}{k} E_k(x) + E_n(x) \\ &= 2x^n = E_n(x + 1) + E_n(x). \end{aligned}$$

(c) Let $P(x) = \sum_{k=0, k \neq 1}^n \binom{n}{k} B_k x^{n-k}$ in Theorem 2, then we obtain

$$\int_{\mathbb{Z}_p} P(x + y) d\mu_{-1}(y) = \sum_{\substack{k=0 \\ k \neq 1}}^n \binom{n}{k} B_k E_{n-k}(x) = B_n(x).$$

4. THE λ -LINEAR FUNCTIONAL ASSOCIATED WITH HIGHER-ORDER DEGENERATE EULER NUMBERS

For $r \in \mathbb{N}$ and $\lambda, t \in \mathbb{Z}_p$ with $|\lambda t|_p < p^{-\frac{1}{p-1}}$, the degenerate Euler polynomials $E_{n,\lambda}^{(r)}(x)$ of order r are defined by the generating function to be

$$(33) \quad \sum_{n=0}^{\infty} E_{n,\lambda}^{(r)}(x) \frac{t^n}{n!} = \left(\frac{2}{e_{\lambda}(t) + 1} \right)^r e_{\lambda}^x(t), \quad (\text{see [4]}).$$

When $x = 0$, $E_{n,\lambda}^{(r)} = E_{n,\lambda}^{(r)}(0)$ are called the degenerate Euler numbers of order r .

From (9) and (33), we have

$$(34) \quad \begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} e_{\lambda}^{x_1 + \cdots + x_r + x}(t) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r + x)_{n,\lambda} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} E_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [4]}). \end{aligned}$$

By (34), for $n \geq 0$, we have

$$(35) \quad E_{n,\lambda}^{(r)}(x) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r + x)_{n,\lambda} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r),$$

and

$$(36) \quad E_{n,\lambda}^{(r)} = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r)_{n,\lambda} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r).$$

By the degenerate binomial expansion (see [17]), we note that

$$(37) \quad \begin{aligned} E_{n,\lambda}^{(r)}(x) &= \sum_{j=0}^n \binom{n}{j} (x)_{n-j,\lambda} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r)_{j,\lambda} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \\ &= \sum_{j=0}^n \binom{n}{j} (x)_{n-j,\lambda} E_{j,\lambda}^{(r)}. \end{aligned}$$

From (22), we note that

$$(38) \quad (t)_{\lambda} E_{n,\lambda}^{(r)}(x) = u_{\lambda}(t) E_{n,\lambda}^{(r)}(x) = n E_{n-1,\lambda}^{(r)}(x).$$

We consider the λ -linear functional $f^{(r)}(t)$ that satisfies

$$(39) \quad \langle f^{(r)}(t) | P(x) \rangle_{\lambda} = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} P(x_1 + \cdots + x_r) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r),$$

for all polynomials $P(x) \in \mathbb{P} = \mathbb{C}_p[x]$.

Theorem 4.1. For any $P(x) \in \mathbb{P} = \mathbb{C}_p[x]$, we have

$$\begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} P(x_1 + \cdots + x_r) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \\ &= \left\langle \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} e_\lambda^{x_1 + \cdots + x_r}(t) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \Big| P(x) \right\rangle_\lambda \\ &= \left\langle \left(\frac{2}{e_\lambda(t) + 1} \right)^r \Big| P(x) \right\rangle_\lambda. \end{aligned}$$

Proof. From (34) and (39), we note that

$$\begin{aligned} (40) \quad f^{(r)}(t) &= \sum_{k=0}^{\infty} \frac{\langle f^{(r)}(t) | (x)_{k,\lambda} \rangle_\lambda}{k!} t^k \\ &= \sum_{k=0}^{\infty} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r)_{k,\lambda} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \frac{t^k}{k!} \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} e_\lambda^{x_1 + \cdots + x_r}(t) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) = \left(\frac{2}{e_\lambda(t) + 1} \right)^r. \end{aligned}$$

Therefore, by (40), we attain the desired result. \square

Theorem 4.2. For any $P(x) \in \mathbb{P}$, we have

$$\begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} P(x_1 + \cdots + x_r + x) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \\ &= \left(\left(\frac{2}{e_\lambda(t) + 1} \right)^r \right)_\lambda P(x) = \left(\frac{2}{e^t + 1} \right)^r P(x). \end{aligned}$$

Proof. For $P(x) = (x)_{n,\lambda}$, from (10) and (36) we get

$$(41) \quad E_{n,\lambda}^{(r)} = \left\langle \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} e_\lambda^{x_1 + \cdots + x_r}(t) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \Big| (x)_{n,\lambda} \right\rangle_\lambda.$$

From Theorem, (23), and (35) and noting that $g(u_\lambda(t)) = \frac{e^t + 1}{2}$, we obtain

$$\begin{aligned} (42) \quad & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r + x)_{n,\lambda} d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) = E_{n,\lambda}^{(r)}(x) \\ &= \left(\left(\frac{2}{e_\lambda(t) + 1} \right)^r \right)_\lambda \left(\left(\frac{e_\lambda(t) + 1}{2} \right)^r \right)_\lambda E_{n,\lambda}^{(r)}(x) = \left(\frac{2}{e^t + 1} \right)^r (x)_{n,\lambda}. \end{aligned}$$

Therefore, by linear extension, we obtain the following identity.

$$\begin{aligned} (43) \quad & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} P(x_1 + \cdots + x_r + x) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \\ &= \left(\int_{\mathbb{Z}_p} e_\lambda^{x_1 + \cdots + x_r}(t) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) \right)_\lambda P(x) \\ &= \left(\left(\frac{2}{e_\lambda(t) + 1} \right)^r \right)_\lambda P(x) = \left(\frac{2}{e^t + 1} \right)^r P(x). \end{aligned}$$

From (43), we get the desired result. □

Examples.

(1) Choosing $P(x) = x^n$ in Theorem 4, we get

$$\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r + x)^n d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) = \left(\frac{2}{e^t + 1}\right)^r x^n = E_n^{(r)}(x),$$

where $E_n^{(r)}(x)$ are the Euler polynomials of order r given by $(\frac{2}{e^t+1})^r e^{xt} = \sum_{n=0}^{\infty} E_n^{(r)}(x) \frac{t^n}{n!}$.

(2) By putting $P(x) = (x)_n$ in Theorem 4, we obtain

$$\begin{aligned} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x_1 + \cdots + x_r + x)_n d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) &= \left(\left(\frac{2}{e_{\lambda}(t) + 1}\right)^r\right)_{\lambda} (x)_n \\ &= \sum_{k=0}^n S_{1,\lambda}(n, k) \left(\left(\frac{2}{e_{\lambda}(t) + 1}\right)^r\right)_{\lambda} (x)_{k,\lambda} \\ &= \sum_{k=0}^n S_{1,\lambda}(n, k) E_{k,\lambda}^{(r)}(x). \end{aligned}$$

where $S_{1,\lambda}(n, k)$, given by $(x)_n = \sum_{k=0}^n S_{1,\lambda}(n, k) (x)_{k,\lambda}$, are the degenerate Stirling numbers of the first kind.

(3) Recall that the Bernoulli polynomials of order r are given by $(\frac{t}{e^t-1})^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}$.

Let $P(x) = B_n^{(r)}(x)$ in Theorem , we have

$$\begin{aligned} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} B_n^{(r)}(x_1 + \cdots + x_r + x) d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_r) &= \left(\left(\frac{2}{e_{\lambda}(t) + 1}\right)^r\right)_{\lambda} B_n^{(r)}(x) = \left(\frac{2}{e^t + 1}\right)^r B_n^{(r)}(x) \\ &= \left(\frac{2}{e^t + 1}\right)^r \left(\frac{t}{e^t - 1}\right)^r x^n = \left(\frac{2t}{e^{2t} - 1}\right)^r x^n = 2^n B_n^{(r)}\left(\frac{x}{2}\right). \end{aligned}$$

Acknowledgments

The author would like to thank the referees for the detailed and valuable comments that helped improve the original manuscript in its present form.

REFERENCES

[1] S. Araci, *Novel identities involving Genocchi numbers and polynomials arising from application of umbral calculus*, Appl. Math. Comput. 233 (2014), 599-607,
 [2] S. Araci, M. Acikgoz and E. Sen, *On the extended Kim's p-adic q-deformed fermionic integrals in the p-adic integer ring*, J. Number Theory 133(10), 3348-3361.

- [3] S. Araci, U. Duran and M. Acikgoz, (p, q) -Volkenborn integration, *J. Number Theory*, 171, 18-30.
- [4] L. Comtet, Advanced combinatorics. *The art of finite and infinite expansions*, Revised and enlarged edition. D. Reidel Publishing Co., Dordrecht, 1974. xi+343 pp. ISBN: 90-277-0441-4 05-02.
- [5] D. S. Kim and T. Kim, *Some New Identities of Frobenius-Euler Numbers and Polynomials*, *J. Ineq. Appl.* 307 (2012), 1-10.
- [6] D. S. Kim and T. Kim, *Symmetric identities of higher-order degenerate Euler polynomials*, arXiv:1704.04025v1 (2017).
- [7] D. S. Kim and T. Kim, *Some identities of degenerate Euler polynomials arising from p -adic fermionic integrals on \mathbb{Z}_p* , *Integral Transforms Spec.Funct.* 26(4) (2015), 295-302.
- [8] D. S. Kim and T. Kim, *A note on a new type of degenerate Bernoulli numbers*, *Russ. J. Math. Phys.* 27 (2020), no. 2, 227-235.
- [9] D. S. Kim and T. Kim, *Degenerate Sheffer sequences and λ -Sheffer sequences*, *J. Math. Anal. Appl.* 493(1) (2021), 124521.
- [10] D. S. Kim, T., J. Kim, Kwon, S.-H. Lee and S. Park, *On λ -linear functionals arising from p -adic integrals on \mathbb{Z}_p* , *Adv. Difference Equ.* 2021:479 (2021), 12pp.
- [11] D. S. Kim, T. Kim and J. Seo, *A note on Changhee numbers and polynomials*, *Adv. Stud. Theor. Phys.* 7 (2013), 993-1003.
- [12] M. S. Kim and J. W. Son, *Analytic Properties of the q -Volkenborn Integral on the Ring of p -adic Integers*, *Bull. Korean Math. Soc.* 44(1) (2007), 1-12.
- [13] T. Kim, *q -Volkenborn Integration*, *Russ. J. Math. Phys.* 19 (2002), 288-299.
- [14] T. Kim, *On the Analogs of Euler Numbers and Polynomials Associated with p -adic q -integral on \mathbb{Z}_p at $q = -1$* , *J. Math. Anal. Appl.* 331 (2), 779-792, 2007.
- [15] T. Kim, *An Invariant p -adic q -integral on \mathbb{Z}_p* , *Appl. Math. Letters* 21 (2008), 105-108.
- [16] T. Kim, D. S. Kim, H. Lee and J. Kwon, *Degenerate binomial coefficients and degenerate hypergeometric functions*, *Adv. Difference Equ.* 2020:115 (2020), 17pp, <http://doi.org/10.1186/s13662-020-02575-3>.
- [17] T. Kim, M.-S. Kim, L.C. Jang and S.-H. Rim, *New q -Euler Numbers and Polynomials Associated with p -adic q -integrals*, <https://arxiv.org/pdf/0709.0089.pdf>.
- [18] T. Kim and S. H. Rim, *Some q -Bernoulli Numbers of Higher Order Associated with the p -adic q -Integrals*, *Indian J. Pure Appl. Math.* 32(10) (2001), 1565-1570.
- [19] T. Kim, S.H. Rim, Y. Simsek, and D. Kim, *On the Analogs of Bernoulli and Euler Numbers, Related Identities and Zeta and l -functions*, *J. Korean Math. Soc.* 45(2) (2008), 435-453.
- [20] G.-C. Rota, *On the foundations of combinatorial theory I, theory of Mobius functions*, *Z. Wahrscheinlichkeitstheorie*, 2 (1964) 340-368.
- [21] S. Roman, *The umbral calculus*, Pure and Applied Mathematics, 1984.
- [22] S. Roman, P. De Land, R. Shiflett and H. Shultz, *The umbral calculus and the solution to certain recurrence relations*, *J. Comb. Inf. Syst. Sci.* 8(4) (1983), 235-240.
- [23] K. Shiratani and S. Yokoyama, *An application of p -adic convolutions*, *Mem. Fac. Sci., Kyushu Univ., Ser. A, Math.* 36(1) (1982), 73-83.

DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU CATHOLIC UNIVERSITY, GYEONGSAN 38430, REPUBLIC OF KOREA

E-mail address: hkim@cu.ac.kr

SCHOOL OF ELECTRONIC AND ELECTRIC ENGINEERING, DAEGU UNIVERSITY, GYEONGSAN 38453, REPUBLIC OF KOREA

E-mail address: dslee@daegu.ac.kr